 read;nvar=23;nobs=3036;FILE="C:\Users\Nawaf\OneDrive\Dissertation\Kansas Data\Milton Method\Example Data1.txt"$

 create;cr=x3$

 create;length=x9$

 create;NHV=(x11/100)*(x10/1000)$

 create;AADT=x10/1000$

 create;NNHV=(1-(x11/100))*(x10/1000)$

 create;if(x6=70)I70=1$

 create;if(x6=35)I35=1$

 create;if(x6=335)I335=1$

 create;if(X6=69)U69=1$

 create;if(x6=81)U81=1$

 create;if(x6=470)I470=1$

 create;if(x6=135)I135=1$

 create;if(x15=1)barier=1$

 create;if(x15=2)depresed=1$

 create;if(x15=3)curb=1$

 create;if(x12=2)lan4=1$

 create;if(x12=3)lan6=1$

 create;if(x19=1 | x19=2 | x19=3)asphalt=1$

 create;if(x19=5 | x19=6)concret=1$

 create;if(x17=1)rramp=1$

 create;if(x18=1)lramp=1$

 create;if(x23=999)rural=1$

 create;iri=x20$

 create;if(iri>75)smooth=1$

 create;if(x16>20)median=1$

 create;if(x14>8)shwidtin=1$

 create;if(x4=2009)yr09=1$

 create;if(x4=2010)yr10=1$

 create;if(x4=2012)yr12=1$

 create;if(x4=2013)yr13=1$

 reject;x4!=2013$

 nlogit;lhs=x1;choices=no,minor,severe;model:

    u(no)=no*one+i135n*i135+lengthn*length+ruraln*rural+mediann*median/

    u(minor)=i70m*i70+rrampm*rramp+concretm*concret/

    u(severe)=severe*one+shws*shwidtin+NnHVs*NnHV+u69s*u69

    ;rpl=rural

    ;hfr=length

    ;fcn=mediann(n);pts=1000;halton;frequencies

    ;effects:i135[no]/length[no]/rural[no]/median[no]/

    i70[minor]/rramp[minor]/concret[minor]/

    shwidtin[severe]/NnHV[severe]/u69[severe]$

Application to Example 13.1:

read;nvar=17;nobs=453;file=U:\00Work-Purdue\new_laptop\CE697N-disk\LOGIT-A1.txt$

create;cage=86-x15$
Heterogeneity in means:

rplogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=dist*x7/

u(rural)=rural*one+dist*x7+cager*cage/

u(freeway)=freeway*one+dist*x7+malef*x11+cagef*cage

;RPL=x11,x8

;fcn=dist(n),cagef(n|#01);pts=200;halton$

Heterogeneity in means and varainces:

rplogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=dist*x7/

u(rural)=rural*one+dist*x7+cager*cage/

u(freeway)=freeway*one+dist*x7+malef*x11+cagef*cage

;RPL=x11,x8

;Hfr=x13,x9

;fcn=dist(n|#01!01);pts=200;halton$

